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EEIEORTEEST 51 SEIEORTEESIBE (BDF)
- FROTE Hb B M) | KRXEEH & R
1| SIHET | 1iEs | —Fa 1361 5,982 B A STALET
2 | TdeEr | meES | —A4A 1372 2,417 B A STALET
3| IdeEr | msEH | —As 1374 2,542 B A STALET
4 | STAEET | sES S 614 2,331 B A STALET
5 | SIHEET | sES | mA 1663 2,521 B A STALET
6 | STLET | meES | mAR 1665 2,192 B A STALET
7 | STdeEr | meES | mAm 1666 1,963 B A STALET
8 | THLET | meES | AR 1805 1,597 B A STALET
9 | STEET | mES | —Am 1806 1,597 B A STALET
10 | STHEET | #8EH S 963 1,424 B A STALET
11 | STHEET | 8% | —A&® | 1927-1 1,512 B A STALET
12 | STHEET | 8% | —A&m | 1927-2 320 B A STALET
13 | ST4EET | E8Bx | —A® | 1928-1 1,809 B A STALET
14 | STHLET | £8B% | —A&® | 1928-2 1,030 B A STALET
15 | SIdeET | #@sEH | mAm | 1653-1 4,000 B A STALET
16 | SIHLET | #eEH | mAm | 1653-2 315 B A STALET
17 | SIdeET | sES S 951 1,600 B A STALET
18 | STItET | #8EH S 952 1,372 B A STALET
19 | SIHLET | £Bx | —Am 1921 2,117 B A STALET
20 | SIALET | #@sES S 613 5,005 B A STALET
21 | STEET | ®ES | =AA 1156 3,447 B A STALET
22 | STAEET | meES | =AA 1157 3,451 B A STALET
23 | STAEET | mES | =AA 1155 98 B STALET
24 | STLET | ®ES | =A® | 1169-1 1,137 B A STALET
25 | SIdLET | TR | BAME | 1331 2,144 RE B2= STALET
26 | SIHLET | TR | =AME | 1545-2 2,542 RE 2= STALET
27 | SIdLET | TANE | =AME | 1646 3,414 RE B2= STALET
28 | SIdLE BT | EEI5 98 2,963 RE 2= STALET
29 | SIdLE BT | EEI5 101 2,930 RE B2= STALET
30 | SI4LET | TR | BAME | 1385-1 4,235 RE 2= STALET
31 | SI4LET | TR | BAMRE | 1385-2 42 RE B2= STALET
32| SIdLET | TN | BAME | 1386 1,608 RE B2= STALET




o SREOHRTESZZ(T5 I SREOHRESFZZITDE (EDF)
PR # m A&(m) KX (IR £ FR
33 | JIAEHT J\HJ EHINst 107 1,970 RE E= 7 TAEHT
34 | JI4EHT J\HJ EHINst 108 3,454 RE == 7 TAEHT
35 | JI4EHT J\H] EHINst 109 3,455 RE E= 7 TAEHT
36 | JI4LHT T~/ INE =AHIE 1616 2,225 RE == S TAEHT
37 | I4tHT ~/IE =FMIE | 1633-1 1,842 RE == 7 TAEHT
38 | JI4tHT ~/IE =AHIE 1634 3,022 RE == S TAEHT
39 | JI4tHT T~/ INE =FHE 1622 1,576 RE == S TAEHT
40 | IAtHT 1R FER 54 2,894 RE == 7 TAEHT
41 BHAaH] =T i 145 3861-1 1,667 A =t SFat:i)
42 BHAaH] =T iy 145 3861-2 4,388 A =t SFat:i)




